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Indian Army Clerk sample paper 

COMMON ENTRANCE EXAMINATION FOR SOLDIER CLERK 
 

TIME - 1 HR. |    QUESTIONS - 50  
 

ALL QUESTIONS ARE COMPULSORY AND CARRY EQUAL MARKS 
__________________________________________________________________________ 

01. Which was the first metal used by man  

 मनुष्य द्वारा सबसे पहले प्रयोग में लाने वाली     

 धातु इनमे से कौन सी है? 

a. Copper / कॉपर  

b. Silver / सिल्वर  

c. Brass / ब्राि 

d. Bronze / ब्ररोंज 

 

02. Which of the following ruler did not  

      embrace Buddhism?  

       ननम्न में कौन सा शासक ऐसा था निसने बौद्ध    

       धमम को स्वीकार नही ीं नकया? 

a. Ashoka / अशरक 

b. Harshvardhan / हर्षवर्षन 

c. Kanishka / कसनष्क 

d. Samudragupta / िमुद्रगुप्त  

 

03. Which State capital is situated on the  

      river Ganges?  

      ननम्न में नकस राज्य की रािधानी गींगा नदी के     

      तट के समीप है ? 

a. Bhubaneshwar / भुवनेश्वर 

b. Ranchi / राोंची 

c. Kolkata / करलकाता 

d. Patna / पटना   

04. Jharkhand does not share boundary  

      with  

      इनमे से कौन से राज्य की सीमा झारखण्ड से   

      अलग है? 

a. West Bengal / पसिम बोंगाल 

b. Orissa / ओसिशा 

c. Chhattisgarh / छत्तीिगढ़ 

d. Madhya Pradesh / मध्य प्रदेश 

 

05. The National stock Exchange  

      functions from  

      ननम्न में से भारत का शेयर बािार कहा है? 

a. New Delhi / नई सदल्ली 

b. Mumbai / मुोंबई   

c. Nagpur / नागपुर 

d. Kolkata / करलकाता 

 

06. A tax which is paid by the person on  

      whom the tax is incident is called a  

      नकसी व्यक्ति द्वारा भुगतान नकये िाने वाले कर को  

       क्या बोला िाता है ? 

a. local tax / स्थानीय कर 

b. indirect tax / अप्रत्यक्ष कर 

c. direct tax / प्रत्यक्ष कर 

d. rate / मूल्ाोंकन 
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07. What is the maximum number of  

      elected members in a State Assembly?  

      राज्य-सभा में ननवामनित सदस्ोीं की  

      अनधकतम सींख्या नकतनी होती है ? 

a. 250 / दर िौ पचाि 

b. 300 / तीन िौ 

c. 600 / छः िर 

d. 500 / पााँच िौ  

 

08. Which of the following is a source  

      of income of the Gram Panchayat  

       ननम्न में ग्राम पींिायत की आय का  

       श्रोत क्या है ? 

a. Income Tax / आयकर 

b. Sales Tax / सबक्री कर 

c. Professional Tax / वृसत्त कर 

d. Levy Duties / लेवी डू्यटीज 

 

09. The term ‘T’ is connected with  

     ‘T’ ननम्न में से नकससे सम्बक्तित है? 

a. Polo / परलर 

b. Golf / गरल्फ  

c. Bridge / सब्रज 

d. Billiards / सबसलयिडषि 

 

10. Nobel Prizes are distributed annually at  

      हर साल नोबल पुरस्कार का आयोिन कहााँ होता             

       है ? 

a. Manila / मनीला 

b. Stockholm / स्टॉकहरम   

c. Geneva / सजनेवा 

d. New York / नू्ययॉकष  

 

Directions (Q. No. 11-15) Some parts of  

the sentence have errors and some are correct. 

Find out which part of a sentence  

has an error corresponding to the appropriate 

letter (a), (b) and (c). If a sentence is free from 

errors, mark the answer (d). 

 

11. Supposing if (a) it rains (b) what shall we        

      do? (c) no errors (d) 

12. The captain along with his team (a)/ 

      are practicing very hard (b) / for the      

      forthcoming match. (c)/ no error (d) 

 

13. It was him (a) / who came running    

      (b)/ into the classroom (c)/ no error (d).  

 

14. The capital of Yemen(a)/ is situating (b)    

       / 2190 meter above the sea level (c)/  

       No error (d)  

 

15. Ram was (a)/ senior to (b)/ Sam in   

      college (c) / no error (d)    

 

Directions (Q.No. 16-20) In the question, 

sentences are given with blanks to be  

filled in with an appropriate word(s).  

Four alternatives are suggested for each 

question. Choose the correct alternative 

out of the four. 

 

16. A place where birds are kept  

a. Apiary 

b. Aviary  

c. Nursery 

 

17. For a child, a blow ………. Self-esteem  

      is a terrible thing  

a. Of  

b. with 

c. to 

d. on 

 

18. The Chairman is ill and we’ll have to  

      ………….. the meeting for a few days  
a. put on 

b. put of 

c. put away 

d. put off  
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19. He is very good ………… making     

      stories  
a. in 

b. about 

c. at  

d. for 

 
20. The Principal called ……….. an  

      explanation from the clerk 
a. on 

b. out 

c. for  

d. In 

 

Directions (Q.No. 21-25) In these questions, 

choose the alternative which can be 

substituted for the given word/sentence. 

 

21. It is our duty to get ……… the truth  
a. to 

b. over 

c. into 

d. at  

 

22. A remedy for all diseases  

a. Recoil  

b. Panacea 

c. Marvel 

d. Treatment 

 

23. A man who waste his money on luxury  
       

a. Extempore  

b. Extravagant  

c. Nymph  

d. Surge 

 
24. Custom of having many wives 
       

a. Bigamy  

b. Monogamy 

c. Polygamy  

d. Matrimony 

 

 
 

25. One who know many languages 

      कोई एक िो कई भाषाएीं  िानता हो   

a. Polygamy / बहुसववाह 

b. Popular / लरकसप्रय 

c. Panacea / रामबाण 

d. Polyglot / बहुभार्ी 

Directions (Q.No. 26-30) In these questions, 

choose the word opposite in meaning to the 

given word.   

 

26. plausible  

a. inplausible 

b. unplausible 

c. implausible  

d. displausible 

 

27. genial  

a. stupid 

b. stingy 

c. boorish  

d. unkind 

 

28. demolish  

a. shift 

b. build  

c. repeat 

d. hide 

 

29. frailty  

a. energy 

b. intensity 

c. vehemence 

d. strength  

 

30. prevent  

a. protect 

b. block 

c. hinder 

d. induce  
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31. The number 12345674 is divisible by  

       ननम्न में से कौन सा नींबर 12345674 से नवभाज्य है 

a. 11  

b. 7 

c. 7 

d. 3 

 

32. The simplification of 33.33 / 1.1 will be  

       ननम्न में से 33.33 / 1.1 का सरलीकरण कौन सा होगा  

a. 3.03 

b. 33.3 

c. 33.0 

d. 30.3  

 

33. The square root of 73.96 is  

       ननम्न में से ७३.९६ का वगममूल क्या है? 

a. 8.6  

b. 89 

c. 0.86 

d. None  

 

34. The product of two numbers is 216 and  

      their HCF is 3, what is their LCM  

      नकन्ही दो सींख्याओ का गुणनफल 216 है, अगर उसका    

        H.C.F 3 है, तो उसका L.C.M ननम्न में से क्या होगा ? 

a. 648 

b. 72  

c. 219 

d. 231 

 

35. The average of 67 values is 35. If in  

      each of these values 4 is added, the     

      average of the new values will be  

      यनद नकन्ही ६७ अींको का औसत ३५ है और हर एक   

       अींक में हम यनद िार िोड़ते है, तो नए अींको का औसत  

        क्या होगा ? 

a. 37 

b. 39  

c. 40 

d. 35 

 

 

36. What is the ratio between one hour to  

       one day              

       एक नदन से एक घींटे का अनुपात क्या होगा? 

a. 1: 6 

b. 1: 1 

c. 1: 24  

d. 24:1 

 

37. Convert 6% into a decimal  

       6 को दशमलव में बदलने पर क्या होगा? 

a. 0.6 

b. 0.06  

c. 0.006 

d. None of these 

38. A man buys a toy for Rs.100 and  

      sells it for Rs.150. Then his gain  

      percent is 

      यनद एक आदमी एक क्तखलोने को १०० रूपए में    

       खरीदता है और १५० रुपए में बेि देता है, तो उसका    

       लाभ प्रनतशत क्या होगा ? 

a. 50 %  

b. 60 % 

c. 40 % 

d. 30 % 

 

39. In how many years will Rs.7500 double  

      at 8% simple interest?  

      8% की साधारण ब्याज़ दर से नकतने साल में 7500 रुपए  

       दो गुना हो िायेंगे?  

a. 12 

b. 8 

c. 12.5  

d. 10 

 

40. Express 63 km/h into m/s 

      63 km/h को m/s में बदले 

a. 16.5 

b. 17.5  

c. 18.5 

d. 19.5 
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41. Which symbol is used to right align 

      the text in table  

      ननम्न में से कौनसा निन्ह टेबल में टेक्स्ट को राईट अलाइन  

      करने में इसे्तमाल होता है 

a. < 

b. > 

c. @ 

d. $  

 

42. What is the process of summarizing  

      data from more than one source called 

      डाटा को एक से अनधक सोसम से समराइि करने की प्रनिया  

      को क्या कहते हैं? 

a. Data Validation/ िाटा की पुसि 

b. Data Consolidation / िाटा एकत्रीकरण 

c. Data Form/ िाटा फॉमष 

d. Data Filter/ िाटा सिल्टर 

 

43. CPU stands for  

      ननम्न में से CPU का फुल फॉमम क्या है? 

a. Central Processing Unit / सेंटर ल प्रोसेनसींग यूननट 

b. Center Process Unit / िेंटर प्ररिेि यूसनट 

c. Control Process Unit / कों टर रल प्ररिेि यूसनट 

d. Computer Program Unit / कों पू्यटर प्ररग्राम यूसनट 

 

44. Outlook express is a  

       आउटलुक एक्सपे्रस क्या है? 

a. e-mail client / ईमेल क्लाइोंट 

b. scheduler / अनुिूचक 

c. address book / पता पुस्तिका 

d. all of these / इनमे िे िभी 

 

45. Output device is  

      आउटपुट नडवाइस क्या है? 

a. Printer / सप्रोंटर 

b. Keyboard / कीबरिष  

c. Mouse / माउि   

d. CPU / िी पी यू 

 

 

 

46. Which is not an output device 

       इनमे से कौनसा आउटपुट नडवाइस नही ीं है   

a. Mouse / माउि 

b. Printer / सप्रोंटर  

c. Speaker / स्पीकर  

d. Screen / स्क्रीन 

 

47. Ethernet, LAN, Token Ring and Token  

      bus are types of  

      ईथरनेट, लैन, टोकन ररींग और टोकन 

       बस नकसके प्रकार है? 

a. WAN 

b. Communication channels 

c. LAN  

d. physical medium 

48. Which is the comparison operator  

       ननम्न में कौन कीं पॅररज़नऑपरेटर है? 

a. = 

b. / 

c. * 

d. None of these  

 

49. In order to include picture, data type 

      must be  

      नपक्चसम को डाटा में सम्मनलत करने के नलए डाटा का टाइप  

       क्या होना िानहए? 

a. OLE  

b. Hyperlink 

c. Yes/No 

d. Picture 

 

50. In which table, we find the pivot  

      table command  

      कौन सी टेबल में पाइवोट टेबल कमाींड नमलती है? 

a. Tools  

b. Data  

c. Insert 

d. Window 
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Answer key 

1. (a) ✔ 2. (d) ✔ 3. (d) ✔ 4. (d) ✔ 5. (b) ✔ 6. (c) ✔ 7. (d) ✔ 8. (d) ✔ 9. (b) ✔ 10. (b) ✔ 11. (a) ✔ 12. (b) ✔ 13. (a) ✔ 14. 

(b) ✔ 15. (c) ✔ 16. (b) ✔ 17. (a) ✔ 18. (d) ✔ 19. (c) ✔ 20. (c) ✔ 21. (d) ✔ 22. (b) ✔ 23. (b) ✔ 24. (c) ✔ 25. (d) ✔ 26. (c) 

✔ 27. (c) ✔ 28. (b) ✔ 29. (d) ✔ 30. (d) ✔ 31. (a) ✔ 32. (d) ✔ 33. (a) ✔ 34. (b) ✔ 35. (b) ✔ 36. (c) ✔ 37. (b) ✔ 38. (a) ✔ 

39. (c) ✔ 40. (b) ✔ 41. (d) ✔ 42. (b) ✔ 43. (a) ✔ 44. (d) ✔ 45. (a) ✔ 46. (a) ✔ 47. (c) ✔ 48. (d) ✔ 49. (a) ✔ 50. (b) ✔ 
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